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“ READ THE FOLLOWING INSTRUCTIONS CAREFULLﬂl

1. Please write Seat No ,Category and Question Booklet Series on answer sheet
without fail.

2. Do not turn the page till you are instructed to do so.

3. Each question carries one mark. There is no negative marking for wrong answer.

4. You have to mark ( ® ) the right alternative ( @& or borcord ) for each
question in the answer sheet with HB Pencil ..

5. Answers marked with more than one alternative will not be considered.
6. Rough work, if any, be done on the last blank page of Question Paper.
7. In case of confusion in Gujarati question, rely on English question. English

text will be final.






India's Border Roads Organisation was involved in constructing the
(a) Sitwe to Mandalay road in Myanmar
(b) Zaranj to Delaram road in Afghanistan
(c) A-9 High way in Sri Lanka
(d) All of above

elRellal s oAl Are LA elias g1 8 Q.
(2) w219 g A2 AU RS (b)  wsa-lrdltil ol g Bl A
(¢) sldsii v~ add (d)  Guasu el

Which of the following are ihe Indian contributions to the parliamentary practice ?

(1) Zero hour

(2) Calling attention motion

(3) Adjournment motion

(4) Censure motion

Select the correct answer from the code given below :
(1,2 02,3 (¢)3,4 (@41

Audly nuclni ourdsl s QA-umidl sie ?
(1) g sas
(?) wus Vad) exvii

(3) wyaddl vl vt
(¥) sustll ervid

(a) 1, r (b) 2,3 © 3, ¥ @ ¥

Recently Tarapore Committee submitted its report on “ Full Convertibility on
Rupee” in --

(a) Current account

(b) Capital account

(¢) Both in current as well as in capital account
(d) Special Drawing Rights (SDR)

Al iR AR 3u dyel 3uiddddl GUR vdda 2l 8.
(a) g vug (b) 4l vug
() o\ Alg vl A 3 vl (d) vu GuisHlL esst

Which state of India has recently banned use of mobile phone by people under The
age of 16 years?

(a)Maharashtra (b )Rajasthan  (c )Madhya Pradesh  (d) Karnataka
slel sl w45 )l A audl dlsial Henas el u udels 3a 8

(a) HewRR (b) - () Mmuea ’ (d) sales

In which of the following Committees, are members from both the Houses of
Parliament represented?

(a) The Estimates Committee

(b) The Business Advisory Committee

(¢) The Public Accounts Committee

(d) The Committee on Government Assurance
020 565 uPiniel el oA ol uedl MAMRC 4y & 7

(a) »iewr ul (b)  Aur uasr AR

(€) ndqBRue AR (d)  wellufla
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10 | National Food security mission aims to increase production of which of the following crops?
(a) Rice, vegetables

(b) Rice, wheat

(c) Wheat, fruits

(d) Rice, Wheat, Pulses

A vt 2028000 WAl $2 s Geuleeledl dsnial-l GRa Ul 8.

(@) druad wsewedl (b) Abumdas (o) aGuAsal  (d) A, abudaa
11 | Match the List I and List I and select the correct answer from the code given below
the lists :
List I

(A) Vote on account

(B) Vote on credit

(C) Supplementary demand for grants
(D) Excess demand for grants

List 11

(1) Lump-sum money granted, without detailed estimates

(2) Additional expenditure not covered in the approved budget
(3) Amount spent in the excess of the grants

(4) Grants in advance pending budgetary approval

Codes :

@ ®& © O
(A) ] 4 3 2

(B) 1 23

(©) 4 1 2 3

(D) 4 1 3 2

gl 4 2R gl 2 A vl 2t A 2uRe sioHiell i el Rl

el -1 el -2
(@) diz A NG 1. RoldaR el @) GRs 4l s1nagll
(b) alevii43dle 2, R sARA vigtustui aaiRidAL v uHd
9l U

(c) M YsHPL 3. W2 GWRiarll aardl 1 wals €ln
(d) w2 W2 qeuRiedl 1oL . vigigld Hogdl udan u-e eudl in

12 | CAPART is related with--

(a) Assisting and evaluating rural welfare programmes
(b) Computer hardware

(c) Consultant service of export promotion

(d) Controlling pollution in big industries

PR B ETRITDRTCRL RS
(a) 2uon call sigA usls dHl 2R yeuisd sl (b) sy elddR
(c) Fus asran vz Foeudiqu »Roua e da (d) 2 Gaionxi ugwa Msal

13 | Which is the first person to decode his genes under Human Genome project
(a) James Watson

(b) Robert Krick

(c) Heath Ledger

(d) J. Craig Ventor

58 udel Ul sl 3 3 e A dlosl S0, Wietirll et SLsis sul.

(@) Hadend (b) A Bs (c) dadm (d)F. Idrad=r

Page 3 of 33 A






18

One major proposal of New Industrial Policy (1991) was— -

(a) NRIs will not be allowed for capital investment in India

(b) Al types of industries have been made license free

(c) Import restriction of technical know-how for one year

(d) Facility of direct foreign investment up to 51% in high priority industries

«icfl wiiaiolls Fila (1eea) Il as uewll eaviing el ——

(a) B Rl eurdldla enzaxl 34 Aseel wraisel <8l siua
(b) €35 usiawl GelloliAl ey Hidl y3d vl

(c) s aleu2 uiBis Fssudial 2t 48l 5214

(d) G wadtsue Galotl ua 2st Yl 06 uaall Asi-l wadd

19

There groups A, B, C are contesting for a position on Board of Directors of a country. The
probabilities of their winning are 0.5, 0.3 and 0.2 respectively. If group A wins. Probability of
introducing new product is 0.7 and corresponding probabilities for group B and C are 0.6
and 0.5 respectively. The probability that new product will be introduced is.

(@)0.52 (b)0.74 (c) 0.63 (d)0.85
2, oL, B AL Aot el gl Suslledl old wils N sedui e uind sanyesll @ . dusl
flactl Actdlddl 0.4, 0.3, 0.3 AN B, ol Yu 2 Ad B dl Al etal Gl Ysal-dl
AciRddr 0.9 A weni g2 ol wA Al L 0.5 A 0.4 B, Adl Uera sl AR 8,

(a) owx (b) 0.9¥ (c) ©.53 (d) 0.¢cM

20

There are four monarchies in the world. Name them
a) Brunei, Nepal, Kuwait, Saudi Arabia
b) Kuwait, Swaziland, Nepal, Brunei
¢) Saudi Arabia, Qatar, Nepal, Brunei
d) Swaziland, Brunei, Qatar, Saudi Arabia

e 2R ABWSIL S Feil A 2N
(@) 94AS, Awa, gd, ABL wR06flu (b) £, nilds, Awa, ¢as
(c) 6L 2w0{luy, sair, AW, gAs (d) @fldrs, A, sair, W6l wolu

21

The government is planning to establish ‘Price Stabilisation Fund’ to check the price
fluctuation of a few crops. These crops are—
(1) Tea
(2) Tobacco
(3) Coffee
(4) Rubber

Mention the right answer from the following groups—
(a) Only 1and 3 (b) Only 1,2 and 3
(c) Only 1,3and4  (d) Only 1,2,3 and 4
qeiell Bl 1ol via 12 dasi ' Bd Rurdl §3 " amarl dlore a8l L 6.
DL ULEL D ———
(1)
R) dug
(3) 58l
(¥) =0
DA o513 stximiel L ealdl —
(@) 51 3 (b) 8514, 23
(c) 55d9,3 ¥ (d) 1,3,3%Y

22

There are 4 horizontal and 4 vertical lines on a board. What is maximum number of rectangles and
squares that can be formed?

(2) 36 (b) 16 (c) 24 (d) 42

6lL§ BUR AR AHLAR Lot 21 AR Gl Jviiadl § dl HedH Jeel AH G5l 2 AR 64l ?
(a) 35 (b) as (c) _¥ (d) =
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28 | Directions: The following Question consist of two statements, one labeled as the *Assertion (A) and
the other as ‘Reason (R) °. you are to examine these two statements carefully and select the answers
to these items using the code given below:

Assertion (A) : Muhammad bin Tughlug issued a new gold coin which was called Dinar by Ibn
Batutah.
Reason :(R) : Muhamimad bin Tughlug wanted to issue token cusrency in gold coins to promoie trade
with West Asian and North African countries.
Code:

(2) Both A and R are individually true and R is the correct explanation of A

(b)Both A and R are individually true but R is not the correct explanation of A
(c)A is true but R is false
(d)A is false but R is true

Yaruod : 03 ue & Redwe e © A gial ddd () el siRw (wUR) adld ealen 8.
A1 2 A ez el duldidiql © wa wrie 53w g s 8.

glat () e —olri—daas Alainl «al ALss1 AQRHL H5UL T Sort tiddlg el el adld
CLSIR UI3AL,

51201 (3UR) MdHe—old—ana sl S2or wRxrr AR 2 Gl st 2ol A AR qaral
29t @lenefl Wittt L5 wanll ARl 2Ls dild olai WL,

(2) 6 B, A R, AlZddld LA WAL D A "R ", A Al WAl ARl S,

(b) 6 D" 2 212 Aokt A il @ wal AR T, B il vl -l

(C) " AYD YR UR WD,

(d) "2z @ uRl v T AY Y.

20 | What is the name of the devastating cyclone that hit Myanmar killing around 23000 people?

(a) Alphonso (b) Nargis (c) Cicily (d) Bailey

RYAHIRHL 3000 SR el i a3dal 2 Aol dleltisid i § & ?

(a) »esil (b) A0l (c) ANl (d) adel
30 | Population experts refer to the possible 'demographic bonus' that may accrue to India around 2016
A.D. They are referring to the phenomenon of

(a) a sharp drop to the total population;

{b) asurge in the population in the productive age group;
(c) adecline in both birth and death rates;

(d) awell-balanced sex ratio

Al st oliotddl Rl ' dls van — o+ dval oy '« 1Hy .. 2095 <l vt
oud ., Al A Hiell vULIREL “eril Rl 8,

(@) && adll dla asl

(b) weAiculd 59 U3 Aell Ay gl drdl sietdii Gel vuddl
(€) %-MER A YPEWL 4213l

(d) wiglaa xnld - uust

31 .| The play "Neelparpan" is associated with ---

(a) Santhal Revolt (b) Pabna Piots
(c) indigo Revolts (d) Champarn Satyagraha

"efleuud s A ...

(a) Faaandn (b) uoiriweiex (¢) d-Slolanan (d) A A

......
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37 | Who is known as the Hindu Luther of Northern India during 19™ century was ?
(2) Dayanand Saraswati  (b) Ishwar Chandra Vidyasagar
(c) Radhakant Dev (d) Deshav Chandra Sen
ol Adlnl G el [Bg e adld slon wvaid e,
(@) swsdcuwadl (b)) Swralg [Qawer (c) A e (d) Yucais A
38 | “The Welch Way’, the book containing 24 lessons from world’s greatest CEOs, was written by
{a) Robert Lucas (0) Jeffrey A Krames () Myron Scholes  (d)None of these
o) Aen A ' % vy USWL “AAG, Yeis 3 ¥ [Qaar et g Assyer AN S 7
(@) Aalas (b)) FsdA I (¢) e () vl vssue -l
39| The first bank managed by Indians was:
(a) Punjab National Bank (b) Oudh Bank
(c) Benaras State Bank (d) Punjab & Sindh Bank
elRldl Bl e Aol vidl eld dddl das Ges ——
(a) el Aund ol-s (b) »isdes  (c) oRuR2 s (d) et v Rig -3
40 | Who said the following "the British empire is rotten to the core, corrupt is every direction any
tyrannical and mean"?
(a) Mrs. Annie Besant (b) W. Digby
(c) Sister Nivedita (d) William Wedderburn
o182l ey v g, arve 2 otelles oAl Htiaeidl A loz B Ag SA 5!
(@) Ml AR Aure  (b) serey Slooll
(©) e Ak (d) QARuM Ao
41 | Match the List I with List IT and select the correct answer using the codes given below the lists:

List I (Author) List I (Book)

A) Jaswant Singh I) The Indian Summers

B) John Wright 2) A Call to Honour- In Service o/ Emergent India
C) Shirin Ebadi  3) Ayodya- 6 December 1992

D) P V Narasimha Rao 4) Iran Awakening

Codes:
A B c D
(a) I 2 3 4
(b) 2 1 4 3
(c) 2 I 3 4
(d) 4 3 2 1
gl —q 27 i) —3 Avitcll AL el idl.
yd—q dus YIgl —2 Yds
¥, oudd Rig 9. ) Selair wual
o, el uSe L W Ad g vii-O a2l Srowe Sl
5. A Seudl 3. vl - § JA0R e
3. ldl.4Risgua ¥. Su udslal
e8] of) Al 4l
(a) ! R 3 ¥
(b) R ! ¥ ¥
(c) ! 3 ¥
(d) ¥ 3 2 1
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48

~ When water is heated from 0” Celsius to 10" Celsius, the volume of water--

(a) Increases gradually (b) Decreases gradually
(¢) First increases, then decreases  (d) First decreases, then increases

o w0 ° Lol A=dlas ol 40" Hall A-As el o sacuml wud i welld s& ——

(a) dRdRafe. (b) dRelzges.
(©) waraddudlazd (d) wdarwedudlalds

49

Which among the following pair accused for killing English officers in England was
hanged?

(@) Raj Guru and Sukhdev

(b) Khudi Ram Bose and Suryasen

(c) Madan Lal Dhingra and Udham Singh’

(d) Kartar Singh Sarabhai and Ashfaqullah Khan

QA 56 A0 2idos AN SoAr i WL vt 12 1 S ol ?
(2) U3 VA Yoz (b) wAluH ollos ¥ YA
() Merena Riau 27 GanRia (d) s2dR Rig wueus wa =us1gaisuin

50

Consider the following statements:
1) WiMax stands for Wireless Interoperability Microwave Access
2) WiMax is a faster version of WiFi
3) The radius of WiMax coverage is measured in square metres, unlike
WiFi which is measured in square kilometres.

Which of the following statements given above is/ are correct?
(a) 1 only (b)land2 (c)land3 (d)1,2and3
A Qe asRll

(1.) awdsa Ned A S queldld] udslda RsAn

() adisy A afsiSd aadl ad 8.

(3) aSisurdl udla Daelleadl Huu  F4 3 wsas A fldflel w8,
Gur-il wiell sy R Wy 8.

(@) ssda1 (b)) 1R (c) 123 (d) 4, 301 3

51

Blisters are formed more rapidly by the steam of boiling water in comparison to the
boiling water itself because--

(a) Temperature of the steam is higher

(b) Steam enters the body pores rapidly

(c) Steam is gas and rapidly covers the body
(d) Steam has latent heat

ol wiel-A arvimeltal Gsadt wiell-) axia]l uauiel %edl Gemd ©. sRed —-
(a) <R Geaici 63 Slu 8.
(b) arit a2t el o suell nAA S,
() crivL A Ay B A B3ul ARA 52 52 B,
(d) ariumi R guddl 8.

52

Aurbindo Ghose was defended in the Alipur conspiracy case by —

(a) Tej Bahadur Sapru (b) Motilal Nehru
(c) Jawahar Lal Nehru (d) Chitranjan Das
eflyR sttt 3l vRMe divel orud sl el

(a) ey (b) Midlaa <433 (c) rukaddy (d) Rdiert
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58 [ What is the correct chronological order of Gandhian Movements ?
1. Rowlatt Acts Movement

2 Khera Movement

3. Champaran Movement

4. Ahmedabad Mill Strike

aljell ALl 1L SRR Gl
. Ade N yadwe

R, WL YA

3. AURLL ARAY,

¥, wAeldls e gl

o

(@3 4, 2,1 (b)) 3,2 4 @72 3 41 2314

(@ 3, ¥, 2 1 (b) 3,73 ¥ 1 () ? 3 %1 d) 2, 3, 4, ¥

59 | Which of the following is not a viral disease ?
(a) AIDS

(b) Measles

(¢) Mumps

(d) Leprosy

AAuuiell sul e AL -l
(@) AS» (b)) »id (¢) ouawalldla (dRsdld

60 | Hydroponics is concerned with

(a) growing plants without soil

(b) growing plants without water but atmospheric moisture
(c) the treatment of water with sound

(d) the conservation of water technique

o{let, [Qeitefl winfl-l Qc{l_ AL 018, deiy 8AL B

(2) Rl Gl &,

C(b) wisll Rl uRl ciciareil el Aol s Gl
(c) el et Heus WA

(d) el apucusll weadl-d wadel (diraw)

61 | Match the following

A. Decorative enameled files 1. Lodhi dynasty
B. Appearance of true arch 2. Tughlaq dynastky
C. Solemn and severe character 3. Khalji dynasty
D. Decorative devices 4. Slave dynasty

(a) A-1, B2, C-3, D4, (b) A-l, B4, C-2, D-3
(c) A-1, B-4, C-3, D2, (d) A-3, B-4, C-Z, D-1

QAN wvidl sl
o, ylfd Brusdlsider 4. deldy
o, il sl Beud 2. dads 4
5. ole{lR wA s8R uiew 3. vladl da
5. QAR argl ¥. Jdda

(a) »-1, o, $—3, ¥ (b) »w—1, o-¥, s, 3-3
() -4, o~y, §-3, 3% (d) »1—-3, oy, $—3, -1
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66 | Fat persons are less healthy and have a shorter life expectancy because

(a) fat inhibits many important enzymes of energy-yielding reactions in the
body

(b) accumulation of fat around the pericardial membrane interferes with the
functional efficiency of the heart

{c) the high level of cholesterol in the blood interferes with efficient working
of the lever heart and kidney and so there are greater chances of
hypertension, cirrhosis and renal failure

(d) the more weight the body gas so to carry, the grater the strain on the heart
and greater the chances of high blood pressure and heart attacks

Neadl a3z 0] dgac Sl S 21 el olan 510 oflold © 51295, .

(2) 2260l ul3cl ads was 200 2 s sl 2259 8.

(b) aelld eeurll viggony o dc seasll axdld sidsdl AU B

(¢) Hdredlad ddlai 63 e dlar eed 2 AsA sl saami RAL s 2 Qdl Gy aldld
BOURL , Wetrdl 2oL 2 Yl Frea opelel A1l Getl 53 8.

(d) au? axgriany, gy udz eeun adld dsdls 20 9 2 dell eas N vin 18 V25wl ALY,

adl u @,
67 | The Upanishads are
(2) a source of Hindu philosophy (b) books of ancient Hindu laws
(c ) books on the social behavior of man (d) prayers to God
GURAUEL D
(@) Rrgea ealetedl 2edlod (b) Rg @i el

(c) et weulys adgsusidl (d) S ud-uil

68 | When Congress leaders condemned the Montagu Chelmsford Report, many
Moderates left the party to form the
(a )Indian Freedom Party
(b ) Swarajya Party
(¢ ) Independence federation of India
(d) Indian Liberal Federation
o1 S92 Aol 2oy Awas§ RS Asiaidl cud Jeens Hoar Hiafladl wal e erndl ua
widl o,
(a) S={lurt Slan wel (b) Ry Wl
(c) S=fAmgt 3adust vlis Sl (d)S-flun lore 332

69 | Match the following diseases with the plants affected

List -1 List -II
(A) black heart 1. peas
(b) red rot 2. wheat
(c) karnal bunt 3. sugarcane
(d) powdery 4. potatoes
A B C D A B C D
@ 1 2 3 4 (b) 4 3 2 1
© 3 2 1 4 (d) 2 1 3 4
AR sl
yiel -4 Yel -2
u. Qs wié (1) aewu
6. R (R) 46
5. sl o (3) Al
5. wadl (¥) st
wn, o, 5 3. wn, od. s 3.
(@& 1 » 3 ¥ ) ¥ 3 . 4
©) 3 1% (d 2 1 3 ¥
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74

Match List-1 with List-1I and select the correct answer from the codes given belowin
the list:

List -1 List-11
( Railway zone) ( Headquarters)
A. North Eastern Railway 1. Jabalpur
B. South Central Railway 2. Secunderabad
C. East Central Railway 3. Gorakhpur
D. West Central Railway 4 Hajipur
Codes
A B C D A B C D
@1 2 3 4 ® 1+ 2 4 3
© 3 4 1 2 @3 2 4 1
Q€] —4 ) wigl — 2 A ARvinell L giasen sl
el -1 ed Qe gl — 2 Yoy Hasl
., Gk Yy Rad 1. YedYR
ofl,  elha Ry el . Rseueus
Al ydueraled 3. dluYR
Q. ulFus Hewy ke ¥. slFYR
R ool Al 4 % of} i

Al
(a) 1R 3 ¥ by 1 R ¥ 3
(©) 3 ¥ 1.¥  (d 3 2 ¥ 1

75

A ball is thrown horizontally from a tower top and at the same instant another ball is
dropped down vertically from the same place. Neglecting the resistance offered by
air, stat which of the following statements will be correct ?

(a) The velocities of both the balls will be same on collision with the ground
(b) They will possess equal energies when air

(c) Both of them will fall together on the ground

(d) The ball that is vertically dropped down will reach the ground earlier

s 31l 21N GuRell s £l Rkl Bt w2 Moy A1 A 681 B G A Fsarl 2ud
dl eelledl RS L oLeLsirell DAl 5y disu w1y 97

(a) ol Gur vuaal ol eai-ll sl Axvll e
(b) sl 8 R diall ald uell el

(c) oir A ol W2

(d) 03 Aiviami 20ddl £4l addl ol u2 usdl,

76

The Quit India Movement was adopted by the Indian National Congress at

(a) Mumbai (b) Ahmedabad (c)Pune (d) Kolkata
Re il anan DA gl Guisani 2udl edl.

(a) jod (b) »elce  (c) Yy (d) siasa

77

Vote on account comes under which article?
(a) Article 112
(b) Article 124
() Article 116(a)
(d) Article 143

Auitdeiet iRl 56 sau ds0 29

(a) sam 1R (b) 5@1 1Y
(c) sanaas () (d) s 1%3
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82

Which of the following gives the information that Kalinga is the only conquest of
Asoka and after that he stood for dhammavijai

(a) Major Pillar Edict I (b) Major Rock Edict XIII

(c) Major Rock Edict It (d) Major Rock Edict X1
A0 AR i SuRRR M B Y sz wails sellowll Al wedl o swafoe e oflen.

(a) yyu ot e~ (b) yeu [uendu wuza -2

(c) youRadu 20u-13  (d) you Rdu vy — a9

83 | The first all India Whips Conference was held in :
(a) Chandigarh (b) Lucknow (c) Nashik  (d) Indore
e ey uddl R udve wond edl ...
(a) =clg (b) avidl (c) ~llls (d) Sel2
84 | Match List-1 & List -II
List1 List 1X
Milch (cattle) Synonyms
A. Gir 1. Red Karachi
B. Sahiwal 2. Dongarpatti
C. Sindhi 3. Thari, Grey Sindhi
D. Deoni 4, Surti, Kathiawarhi
5. Lola, Multani, Lambi-Bar
A B C D A B C D
(@) 2 1 3 4 (b) 1 2 3 5
) 4 5 1 2 (d) 4 5 2 3
QA oAl
Wl —1 &R Wl — 2yl
o, ok (1) e siax
o, wdlae R) sorud
5. (3) wd, 2,04
3, tadl (¥) Yadl, séluand)
(W) diaw, yadaill, dielon
., e, s 3. A, 6L s 8.

(@ 1 3 ¥ b) = 2 3
() ¥ M 12 (d ¥ o T3

85

Match List I with List II and select the correct answer using the codes given below
the lists;

List -1
(i) Silappadigaram
(ii ) Manimegalai
(iii) Sivaga Sindamani
(iv) Kural
(v) Palamoli

() i-C, ii-D , iii-B , iv-A,v-E

List ~11
A Tiruttakkadevar
B. Sattanar
C. Munrurai Araiyar
D. lilango Vadigal
E. Tiruvalluvar
(b)i-A, ii-C , iii-D , iv-B,v-E

(¢)i-B, ii- A, iii-E, iv- C, v-D (d)i-D, ii-B, ii-A iv- E, v-C
el — 4 AW — 2 WA AUl VA ALAL FeellAl LS oLl
yel — 4 yigl -2

(i) Wewudbry A, dlzasstear

(i) =elRaas ol AR

(i) Mo Rigrsll 5. HA3US WIWR

(iv) sua 5. daidn audlae

(v) uanid §.  dlzaegar

@) i-s, -8, iii-o, iv-2, v-§ (b) -2, di-s, dii-s, iv-o, v-§

() i-, ii-», iii-§, iv-s, v-3 (d) i-8, ii-, iii-2, iv-§, v-5
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90 | Match the scientists with their fields -
List~1 List-2
(A) Prof. V.R. Rao 1. Plant Chemistry
(B) Dr. M.S. Swaminathan 2 Thermodynamics
(C) Dr. Abdul Kalam 3. Muclear Physics
(D) Prof. Meghnad Saha 4. Space Research
5. Agricultural Research
Codes i~
@» ® © O @ ® < O
(a) 1 5 3 4 (b 2 4 3 1
(©) 1 2 3 4 d 4 5 3 2
A2 0 st A sl
el —1 yel — 2
2, Al dhawrug SR RS RELTEL]
o, Sl dviianl-uad 2. Wil
5. 3l aega sa 3. v elildsare
3. ML AEAE uel ¥. wlasla e
y, g alan _
W, o, 5. 8. w6, 5. 3.
(@ 1 N 3 ¥ () x ¥ 3 !
) + . 3 % d ¥y v 3 7
91 | Which of the following Tamil works highlights the importance of Jaina philosophy ?
(a) Tirukkural (b) Silappadigaram (c) Sivaga Sindamani (d) Manimegalai
St et drfla el 56 gl Gud 8.
(a) dl3spa (b) Aaudory  (c) Al Wersl (d) #elRaend
92 | (1) Pandit Nehru hoisted the National Flag on 31st December 1929 at Lahore
(2) Independence Day was observed on 26th January 1930 all over India Which of the above
statements are Correct?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
1. Udld 339 3L SR Lererl Aoy ALSRHL ke § 51,
2. e owdui 50 YUl 3oL 2uaidl Rav Gl
Gu-t il su Raiet e d Q el
(a) $sd1 (b) s5a 2 () auAre () @sua-dl
93 | Electroencephalogram (EEG) is an index of brain functioning and is most useful in
the diagnosis of
(1) epilepsy
(2) brain infections and drug effect on the brain
(3) sleep and its disorders
(4) brain death
(@ 1,2 b 1,3 () ,2,3 (d)1,2,3,4
2(8%5;1%&&3&19&1% ) worpell sladlll sigsaellst § 21 A feid sl QUi d....
1) di
) oA Anadwdl v a1 Gur Al 242
(3) G A dw wdd
() ot vl g
(@ 1,2 (b) 1,3 () 1,2,3 (d)1,2,3,4
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List1

A. Lymph

B. Plasma

C. Serum

D. Haemolymph

A" B C
@ 3 5 4
@ 1 5 4

List 11

1. Insect's blood

2. Iron-enriched lymph

3. Defibrinated Plasma

4, Tissue fluid

5. Fluid component of blood

D A B C D
2 (b 4 5 3 1
2 d 1 4 5 2

yel —1 el -2
x5 1. %gqd dldl
Lol 2. e wiedlag dles
Al 3. Q50023 vl
aul el ¥, 2y 5483
Y, aldl dandl @il

[l -4

w6 5 3. LT T
@ 3 v ¥ b) ¥ 4w 3 1
(c) 1 Uy 2 d a ¥ 2

100

The Aryans emerged on the Indian scene sometime between
(2) 3000-2500 BC  (b) 3100-2400 BC
(c)300-250BC  (d) 322-185BC

] (1AL AHUAHL GURAAL U3E Geidl vl
(a) $.4. 3000 ¥l 00 (b) .y, 3100 4l Y00
(c) $.4. 300¢lry0 (d) Sy, 3wrdlacy

101

Which is the first Biosphere Reserve in India?
(a) Nilgiri  (b) Nokrek (c) Dehang Debang (d) Sunderbans

olRdMl udg FRsAA 2ulhd ANY, 54 8.

(a) dadlid (b) -isds (c) ebdzutidn(d) yreran

102

If the kinetic energy of a satellite revolving in its orbit near earth is doubled, which
of the following statement is correct 7

(a) Satellite will start revolving in an orbit with the radius of doubled distance
from the earth
(b) Satellite will revolve in an orbit with radius that is four times that earth
(c) Satellite will leave its orbit and go into space
(d) Satellite will stop revolving and will fall on the earth
ofl i Arfl et sauil st Guatell SRS Al Aasin dl Aa-uniell 53 su-t iz ?
(2) ol sauni sl Guate yeellell sl videt udaul arne ug s
(b)  GuaLe AR ARl -l wani erel 54
(©)  Guate Wl eing sai LA vesiaml ol 284,
(d)  Guats el elg sAR yedl W Wl

103

The permanent tilt of the earth's axis and the revolution of the earth in its orbit
together cause

1. Deflection of winds and ocean currents

2 Differences in time between places on different meridians

3 . Varying lengths of day and night at different times of the year.

4. Changes in the altitude of the mid-day sun at different times of the year.

()2, 3and 4 (b) 1 and 4 (c) 3and 4 (d)1,2and 3
yaell+fl sl Al ol viA QD wReriRL st dd §3g ¥ e A axgall Gell 1 9.....
(@ 2, 32 ¥ (b) 1 iy (c) 3@y (d) 1, ¥ 3
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The term 'bio magnification’ refers to

(a) Blowing up of environmental issues by man

(b) Increase in size of population

{¢) Growth of crganism due to consumption of more food
(d} Increase in the concentration of non-degradable

"l dad e REL S,
(@) ¥ e [Q2areen yalael wesd (b)  axdl amrl
(c)  ag vliugeu Guaiowell 213 -luuell gzl (d) el a3 daislaumi aqirl

105

Match the I with List IT and select the correct answer by using the codes given
below the List ::-
List 1
A. Testis

List I
1. Glomeruli

B. Ovary
C. Kidney
D. Rectum

2. Primary follicles
3. Goblet cells

4. Leydig cells

5. Villi

A

B

C

D A
5 (b) 2
3 () 4

@ 1 2 4
© 4 2 1

Yl 4 A Wl 2 A WA F3 s oedid) —

B
3
2

el - 4

.
ofl.
L.

quel
i3l
CRIRKS

yel —

agizdl
seull lellst
Go eidlanan siml

x @ &

. Adla Ml
u, didl

el Al & , 2

& 1 * ¥ (b) 2

() ¥ q 3 d ¥

. oy

off Al
3 1
R4

106

Which of the following statements is false?

(a) Tropical evergreen forests have very little under growth

(b ) Tropical monsoon forests have dense under growth

(¢ ) Temperate evergreen forests have rainfall throughout the year
(d ) Coniferous forests are mostly deciduous.

QA s34 [Qatd vig 87

(a) Rvagdlu dial gl s A0 .

(b) Ryagdly anl Foiel-l Qs o0 8,

(€) UHRUAIMSL et dRAdcl Bl A dule U B,
(d) 2igeuil Pl Youd e ad wrud a9,

107

Which one of the following is printed on a commonly used fluorescent tube light?
(a) 220 K (b) 273K (c) 6500 K {d) 92000 K
selRIU2 246l el GUR ALY Fd g orai 2d B,

(a) w03 (b) 2033 () swood¥  (d) «ooo

108

The Government of India instituted Bharat Ratna and Padma Shri awards under

(a) Article 14 of the Constitution (b) Article 25 of the Constitution
(c) Article 18 of the Constitution (d) none of the above Articles

AU ARSI ol 2t 2 el Al ol sl s vl sul
(a) caradl s —ay - (b) daradl sad -

(c) daradl sau—a¢ (d) Guwr-l SSul san don (3.
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109 | Match the following :

1. Veddas A. North America
2. Yakuts B. European Tundra
3. Kikuyu C. Fast Africa
4. Lapps D. North Siberia
E. Srilanka
12 3 4 12 3 4
@ B C D E by C A D B
c)E D A B d E D C B
LA ARl
1. deRL B, Ged? AHRL
R, Ulgel o, yAlud gosl
3. A&y 5. udauBs
¥, Al 3. Bodr el
6. sllds
1T 2 3 ¥
@ «a s 3 ¢
by s » & o
) § 3 2«
§ 05 o

1@ 9§

110 | Which one of the flowing pairs is correctly matched?

(a) Vikramsila Monastery :Uttar Pradesh (b) Hemkund Gurudwara : Himachal Pradesh
(c) Udaygiri Caves : Maharashtra (d) Amaravati Buddhist stupa: Andhra Pradesh

(3L 2 st wfl Ad A3l

(a) Rsudlaads — Gazuzy  (b) Sugs 3Rl — druaania
(c)  GeulR Y51l — HgR (d) uuad) olisgu — st

111 | The writ of Habeas Corpus is issued

(a) by a superior court to a subordinate court to do something in the nature of
its allotted duty

(b) by a superior court to the lower court directing it to transfer the record of
proceedings in a case for its review

(c) in the form of an order calling upon a person who has detained another
person to bring that person before court and show authority for such

- detention ’
(d) in the form of an order to stop proceedings in a certain case

Sofllu sl x198 QA At 2 el 53 AU O,

(a) Guel veidd d-it DA glad A Wde 52901 eed 565 2 W2
(b) Gud] 2Aiea A0 QA 2ered 516 It sl 21 slandl Al uellan Wiz Houaa w2

(c) AS ABdA iRl W3ul 3 3 oflol lBarl vesiua sA B ARl Aeidd Wi Y sl
2 -l viesiud- Aandl eulaa.

(d) 2uza 2azunl S8 Sl sidandl sesiaqal.
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116 | Raindrops are spherical due to

(a ) Viscosity of water (b )Surface tension
(¢ ) Continuous evaporation (d ) Air friction

aRllell el an el 9,
(a) wiel-fDsw (b) wwd-l dsus
(¢) udd eixdleigs (d) saus wrlw

117 | Consider the following statemenis with regard o the Supreme Court of India

1. The Supreme Court has been created under the Constitution of India

2. The Supreme Court at present comprises of a Chief Justice and 2.5 ordinary

udges.

3. The Supreme Court has its permanent seat at New Delhi, but it can meet
elsewhere if the Chief Justice of India so decides in consultation with the
President of India. _

4. The original jurisdiction of the Supreme Court extends over disputes
between India and foreign countries. Of these statements

(a) 1, 2 and 4 are correct (b) 1, 2 and 3 are correct
(c) 2, 3 and 4 are correct (d) 1, 3 and 4 are correct

QA Rl walza gl wgiam ensul d
1. eliRdrl olarrel siRl Adlz vsed-dl L A4S ©
2. el ulea vieladal e aedla 1A vied 24 wHe 2 8.

3. udlRa veiaddl s oow  dedl  usl oy <yl aszufi-dl wd dawe Has 504
oflofl 1S oou) Aes Al .

¥, Ul viglddd Hooid s1985 eiRd »1A @Rl A1 [Qauel W2 Axadl ub.

(@ 1, 2 AL vwud. (b) 1, 2 ¥L3 WAWO.
(€) 3, 3 wiyuwd. (d 1, 3¥iyuusd.

118 | If original clay sediments are subjects to high temperature and pressure, they
successfully change into rocks, the correct order of which is

(a) Slate, shale, schist (b) Slate, Schist, Shale
(¢) Shale, Slate, Schist (d) Shale, Schist, Slate

-

ol 3 WAL el 62 e w1 sout wiuaH 20 dl use Ad v sl wRad Wi ®

~

el 12 s DA el

(a) A2, el WAl vgs , cudls eloucuoll vas
(b) 2z, 6l clouclol viss, w2l WAl ¢35
(c) w2l Wial viss, e, oudls enalel wis
(d) el Wizl wgs , e, udls elRIAOl WS

119 | In which of the following Union Territories do the people of Onge tribe live?

(a) Dadar and Nagar Haveli

(b) Daman and Diu

(¢ ) Andaman and Nicobar islands
(d ) Lakshadweep

QA a1 YR HB i 2o e dlst ad 8.
(a) s AR (b) xR AALl
(¢) ispuriwA s (d) amgly

Page 27 of 33 A



N
Y
e

[
i

120

Consider the following statements regarding the governor of a state

The governor is the constitutional head of the state
The governor is an integral part of the state legislature
The governor always acts as an agent of the centre
. The governor appoints the judges of the High Court
Of these statements
(a) 1and3 arecorrect  (b) 1,3 and 4 are correct
(¢) 1and2are correct  (d) 2,3 and 4 are correct
AL VoAt AR A Qe Bisnl el
(1) Azpuwa A%aL sdarRell a3t .
(2) uwaue voael Raenl vidold ewt .
(3) wmuwe dhal dsell Nogee ddld 514 52 8.
(¥) urawe uwdd adl meiedal el Faugs 52 6.
L Rl
(@) 1uAswwd. (b) 9, 3wAywws.
(¢) 1@AyAW.  (d) 2, 3 viyumL.

B DD e

121

The zonal soil type of peninsular India belongs to
(a) Red Soils (b) Yellow Soils  (c) black soils ~ (d) older alluvium

cpdlu ey seusdl [Qeuslly #idl usie
(a) awetidl (b) el wd (c) sl sl (d) ol sivaell o

122

Which of the following river basins has a badland topography?
(a)Narmada (b)Damodar (c)Chambal (d) Luni

D2 20104 56 A0 doflan-l wwdl v 9.
(a) -wlel (b) enleR (c) dee (d) asl

123

Which of the following has not been provided by the 73 Constitutional
Amendment relating to Panchayati Raj ?

(a) The Panchayati Raj elected functionaries shall be disqualified to hold their
offices if they have more than two children
(b) Thirty percent seats in all elected rural local bodies shall be reserved for
women at all levels
(¢) The states will constitute their finance commissions to allocate resources to
Panchayati Raj institutions
(d) If the Panchayati Raj bodies are superceded or dissolved by the state
government, the elections shall be held within six months

el 93wt il A siedl W adl Al

2l A% @oLedl YR
(a) vadl e y219d edl A eundiel ag ausl auiddl e dl dnell gl aridel 2

ARSIUBAR AR
(b) =aurlls UM ARl 30 25 Assl oiell o saul 2t WA,
(€) il Ul Areela gy Asid ial Rl e 18R R4,
(d) adl ol ezl QAL Al 21 3 Gurae F6R 26 SUH A AR 1 UM
s3) y2ull sal ¢iall.

124

As a result of abrasive action of scouring, glacial melt water can have a light, cloudy
appearance and is called.
(a) glacial polish  (b) glacial milk (c) glacial deposit (d) none of these

12 21 vl WRBUA R3] ot wigll aiial ctedll i 2w © FA sdu ...

(2) Rurdlldlella (b) Rutdldes  (¢) Rudgl-llaia (d) Gwrg 550 Al

Page 28 of 33 A...




125 | Which one of the following is correct sequence of union Territories of India in increasing order of
their area?

(a) Puducherry - Lakshdweep - Chandigarh - Andaman and Nicobar Island

(b) Lakshdweep - Chandigarh - Andaman and Nicobar Islands —~ Puducherry

() Lakshdweep - Chandigarh - Puducherry - Andaman and Nicobar Island

{d) Puducherry - Chandigarh - Andaman and Nicobar Islands - Lakshdweep

Yep e uealll OAeuniel 56 el Rrdier wnaml st el 8.
(8) HISAN — asuglu —~ AL0g — Aie A AsloR auy
(b) csudlu — 2o — vigl- A lgleur ey — WAL
(c) aridlu —dlolg — WA — viziiet w1 Aglenr ay
(d) WAL -~ Agowe — el @A lsleur ay — agigly

126 | The Tamil Nadu Reservation Act, which provides for 69 percent reservation in the
jobs and educational institutions in the state, was placed in the Ninth Schedule by

(2) the 76" Amendment (b) the 75™ Amendment
(c) the 74™ Amendment (d) none of the above

atellateiig Aeiti $6 ¥ sl 1A Juaell-l Al S¢ 250 virtiel IRBLAL ¢ Hi liyadi
HsaUMl vy, ...,

(@) of Homrellayal (b) ouHl ey YRl
(¢) 9w dareluyaRl (d)  Gua-iidl Adus yarl dl.

127 | The length of the tropical year (the time interval between successive occurrences of
the spring equinox) is decreasing very slowly as a result of

(a ) small, progressive changes in the Earth's rotational speed

(b) small, progressive change in the Earth's progressive change in the

(c ) both of these

(d) none of these

GuarsAoiartl Al dousSel ouel (i Rear d darel wHuml gdl aHuouel) € € 1A
s129 g2l U B,
(a) yeelle{l ernall AQui Al At 21 3oLlAss 81
(b) it 2R WARSIRS 3311
(c) Gur- b
(d) Gur-l 3y 4l

128 | Currently, Manas National park in Assam was in danger of losing its world heritage status due to
(a) decreasing number of elephants

(b) increased environmental pollution

(c) rising militant activities

(d) increased urbanisation in area

AdRAl Bt ARt ARy Gaird [Red drRaruell s1dl Awldld olun Goy ay & siReb. ...
(@)  srelldl aadl odl v
(b) wula@ixi afdig ugust
(¢)  tdsaugl uql-ll afiel Gusd
(d) At 939 RrcRlA) qaRl

129 | Which of the following Articles of the Indian Constitution empowers the President

to appoint a commission to investigate the conditions of backward classes in general
and suggest ameliorative measures ?

(a) Article 389 (b) Article340 (c) Article 342 (d) Article 344
DA A steuRpidl 56 san zuRA il Rufaa dwan wie- dasdl Fagls sl aat
A B % Wiy YA YAl 2 8.

(a) claril sa 3¢t (b) ot wreil say 3¥o
() larai-l sam 3R (d)sieall sen 3wy
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135 | Which one of the following is not mentioned in the Constitution ?

(a) Cabinet (b) Administrative Tribunal
(c) Political Party (d) No-confidence Motion

i) san sl sulda .

(a) Mariu (b) adladia  (¢) wwBuug  (d) bl eviud

136 | 27, 24, 26, 23, 25,
(a) 22 (b) 256 ) 27 @) 21

27, 24, 26, 23, 25,
(a) R (b) 2ms (c) 29 (d) 22

137 | Majauli island which is world's largest fresh water mid river deltaic island is situated in

(a) Guwahati district of Assam (b) Jorhat district of Assam

(c) Dibrugarh district of Assam (d) Tinsukia district of Assam

fsa-d Raneds v Wl Adldl a2ds dioidl v el 8.
(a) wirudel ol slecunl (b) il HRe2 Flecuni
(©) i €legys dlaasii (d) 2uaux-u Agsla Flecni

138 | Arrange the creation of the following preventive detention measures in
chronological order

1. MISA

2. NSA

3. Preventive Detention Act

4. COFEPOSA

Select the correct answer from the code given below :

el seill didlu wHd vesiadl wRelas uoleu sHaiR dlsal
3.
2. ML,
3. uleias vesud Rl
¥. SEWRL
QA w2y wris 520

@) 3,4,1and2  (b) 1,2,3and4 (c) 4,1,3and2 (d) 3,1,4and2

@ 3,%,1¥2 (b)) 1,3 3y () ¥,1,3uA2  (d) 3, 9, ¥A?

13912, 10, 40, 120, 240,
(@) 360 (b)240 (c)300 (d) 320

2, 10, 40, 120, 240,
(a) 360 (b) 240 (c) 300 (d) 320

140 | Bermuda triangle extends up to which of the following places?
1.Southern Florida

2 Puerto Rico

3.Hawaii Islands

Select the correct answer using the code given below:

(@) 1,2and3 (b) 1and 2, only (c)2and3,only (d)1and3, only
sRyIBLAR su1 20l Yol el 8.

(1) e scdidlst

() wraAds

(3) sas2ududs

(@) 1,233 (b) 142 (¢) 43 (d) ‘t‘u-la
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147 | The members of the Legislative Council appointed by the Governor shall have

special knowledge or practical knowledge or practical experience in respect of such
matters as-

(a) Literature, Science, Art, National movement and Service
(b) Literature, Science, Art, Co-operative movement and Social Service
{(c) Science, Art, Cooperative movement and Social Service '
(d) Literature, Art, Science and Social Service
RueguLe iRl [Fgsd Qe wlisienl aedl W vy s, 3 edasiy, vieetd (2 eeid auid

(@) e, [Qan, san i ARy Ana 2 dal

(b) wlRey, Qs sar, wesd ugl 2 s Al
(¢) [aue, sar, wesidl uglavil 2 aeuedls A

(d) e, sar, Ratle »i aedls Aa

148 | .70 x .07+ .07 - 05 x .05 x.05

07 x 07+ .07 x.05 + .05 x.05

@) .002 (b) 02 (c) .0002 (d) .2

70 x 07+ 07 - .05 x .05 x.05
07 x 07+ .07 x.05 + .05 x.05

. (& 002 (b) .02 (c) .0002 (d) .2
149 | The Central Government has constituted an expert group to focus on the present
status of Agricultural indebt ness in our country under the Chairmanship of :
(a) Prof R Radhakrishna (b) Prof. Asim Das Gupta
(c) Prof Vaidyanathan (d) Prof Y K Alagh

3eg AR v Roni srarll 5B @Qnas Bl Rl vea s2a W Frosud ol 3 ealda
sl Yoo s Bl ARAA U AU s 8.

(@) AR, uuld (b) ML 2u0H el dpal

(c) . dleu-liuq (d) . aw. 3.uan
150 | The ‘Point of Order’ in a parliamentary practice Involves-

(a) The question of the orderly behaviour of the members in Parliament
(b) Any order issued by the presiding officer to regulate the business of the
House

(c) The question of rules of procedure not followed in a particular matter

(d) The question of regulating discussion on a matter during ‘zero-hour’
Aty ueuellHl w2 25 28R Tealda ®. ...

(a) RAueni ueul-] w0y adyjs

(b) el sifaid) Rufid sl wym vRsAP wlda S5 2t
(c) [l oflataiSilel 516 sueid nert Godl udl gid

(d) yru 514 — sl 2l Favs saied went,
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